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GGR-SitzverteiIunqo- Vergleich zu letzten Wahlen
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Panaschieranalyse GGR - Wahlen 26.09.2021
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Gemeindewahlen 24.09.2017
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Panaschieranlayse GGR
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Grosser Gemeinderat - Panaschierbilanz

Partei 01.FDP 02.EVP 03.SVP 04.Mitte 05.glp 06.SP 07.EDU 08.Griien_hdC00.0HNE
01 FDP -329 -286 -259 -208 -293 -12 -51 1192
02 EVP 329 84 138 111 196 111 26 507
03 SvVP 286 -84 33 -29 -112 -41 14 821
04 Mitte 259 -138 -33 166 121 -8 20 864
05glp 208 -111 29 -166 33 -18 -11 691
06 SP 293 -196 112 -121 -33 -1 -60 1302
07 EDU 12 -111 41 8 18 1 -2 72

08 Griin hingg¢ 51 -26 -14 -20 11 60 2 257




GGR-Panschierbilanz
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